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5itjA, +M (1-6;)>TMT; +TC;

=1

(i=0,1,---,1),(t=1,2,---,T)
TMT, = f;(TD,, TD,, ---, TD; )

TDj =TDpase j — kj x I (j=0,1,---,3)
TDj >2TDpin; (j=0,1,---,J)
0
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TDbase j J
] fi(x)

T™MT
(1) Exclusive-OR

N
Z Py, P, (TUn +1y, )
T — n=1

N
Z P'Jn an
n=l1

(i) Inclusive-OR

n(m=j)

. Pu; Py, H(l_ P, me)
O Sl | ML

n

= -TT0=P, py)

i=l1

(@]
~

n

j=1

0\
+2

r=1 s=k+1

TD;

k n
{(H Pu, Pu, < [10=Puj puy, )Jmin(Tu i F g Tug g, )}

k=2 l_ﬁ(l_PUi pVi)

i=1

min Gw (10) Inclusive-OR
a1 Gw

n 2"—n-1
Ts zzaJ(TUj +t,)+ ZgWGW
j=1

w=1
Gy Inclusive-OR min Ovw Guw
(1) g (12) k min
gw(k) gw(k) (13) Inclusive-OR
n 2"n-1 min k(<n) min
k 0 1

n(l#j)

Pu,- pv,- H(l_ I:)um pvm)
1=1
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I_H(l_Pum me)

n
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Kk n
H Py, Py, ¥ H(l — Py Py )
gw(k)= c=1 d=k+1

1-TJ(-Ps pw)

e=1

(iii) AND

T = max (T,, +t,,)
n

min max
1) G =min(x;, X, -, Xy )
0<x,-G<Mx(1-6) (i=12,-,n)

Ysi=1 (5 e{ol)

—_

2) H =max(x1,X2,~--,xn)
0<H-x (i=12,---,n)
x>0 (i=12,---,n)
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(14)

(15)

(16)
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